AGREEMENT FORM FOR POLITICAL CANDIDATE ADVERTISEMENTS

(check applicable FEDER)	box) AL CANDIDA	TE		/LOCAL CAN	DIDATE
	il Themselves ı, Federal Car				
Station and		12 2		Date:	25-18
I, John	of: NEELECT_	ze			
being/on behalf	of: NEELECT_	SPE 2226	BRCSAFFE	SE CONCIN)	Political
party for the offi	ce of:	THE CO	every)	LEIA	pontical
	SENCERA eld on: N			2	
	eld on: $\sqrt{\frac{1}{2}}$		201	<u>a</u>	
Broadcast Length	Time of Day, Rotation or Package	Days	Class	Times per Week	Number of Weeks
SUR	pelled				
Total Charg	jes: \$502	 2D ^{&}			

For programming that, in whole or in national importance," list the matters l		ing to any political matter of
NA		
I represent that the payment for the ab		
REELECT SPETZE FOR	ChaffeeCoury	Sheliff
and you are authorized to announce th I represent that this person or entity is committee/organization of the legally	either a legally qualified candidate of	
The name of the treasurer of the candi		
Cyrthia W	DOTTLYARD	
This station has disclosed to me its po and discount, promotional and other s	litical advertising policies, including	
THIS STATION DOES NOT DISC OF RACE OR ETHNICITY IN TH		
To Re Signed By Ca	andidate or fluthorized	Committee
9-25-18		
Date	Signature	
To Be Signed	By Station Representa	ative
Accepted	☐ Accepted in Part	☐ Rejected
(B)	Gazzala Rox Com	RESIDERO
Signature	Printed Name	Title

Copyright ©2011 by the National Association of Broadcasters. May Not Be Copied, Reproduced or Further Distributed.

Sales Order

Stations: KBVC-FM, KGKG-AM-FM, KVRH-FM, Buyer: KWUZ-FM Tax Schedule: Agency Commission %: 0 Contract Name: REELECT SPEEZE 4 CH CNTY SHRF 951001306 Billing Cycle: Calendar 2140hhou Comm %: 15 10/15/18 End Date: 11/03/18 Start Date: Salesperson: Makegood Policy: Within Contract Dates Revenue Type: POLITICAL Type: Cash RE ELECT SPEEZE 4 SHERIFF Advertiser: P.O. BOX 387 Address: City: PONCHA State: CO Zip: 81242 **SPRINGS** Product Name: NEWSPAPER Competitive Code: Political

KBVC-FM

	DAT	ES	Alt	TIM	IES					D	STR	BUT	ION		:-===	RATE	то	TALS	PTY
No	START	END	wks	START	END	LEN	М	Т	W	Т	F	SA	SU	Per Wk	DW	KATE	SPOTS	\$\$	
1	10/15/18	11/02/18		6:00 AM	10:00 AM	30	2	2	2	2	2		Z	10	D	10.00	20	200.00	2
	Run Weeks	of: 10/15 1	0/29			<u></u>				Stel. 12	802525				****				
2	10/15/18	11/02/18		10:00 AM	3:00 PM	30	1	1	1	1	1			5	D	10.00	10	100.00	2
	Run Weeks	of: 10/15 1	0/29					ones.					K050						
3	10/15/18	11/02/18		3:00 PM	7:00 PM	30	2	2	2	2	2			10	D	10.00	20	200.00	2
	Run Weeks	of: 10/15 1	0/29																
4	10/20/18	11/03/18		9:00 AM	3:00 PM	30						5		5	D	10.00	10	100.00	2
	Run Weeks	of: 10/20 1	1/03	-						21/20-			tratues.				M. 5-1-1-1-7-1-16		

TOTAL GROSS \$600.00, NET \$600.00

KGKG-AM-FM

	DA	res	Alt	TIM	MES					D	STR	BUTI	ION			RATE	то	TALS	PTY
No	START	END	wks	START	END	LEN	М	Т	W	Т	F	SA	SU	Per Wk	D/W	RAIL	SPOTS	\$\$	5.63141
1	10/15/18	11/02/18		6:00 AM	10:00 AM	30	2	2	2	2	2			10	D	10.00	20	200.00	2
	Run Weeks	of: 10/15 1	0/29							50.000.00									
2	10/15/18	11/02/18		10:00 AM	3:00 PM	30	1	1	1	1	1			5	D	10.00	10	100.00	2
	Run Weeks	of: 10/15 1	0/29		(v														
3	10/15/18	11/02/18		3:00 PM	7:00 PM	30	2	2	2	2	2			10	D	10.00	20	200.00	2
- 2	Run Weeks	of: 10/15 1	0/29													07-27-			
4	10/20/18	11/03/18		9:00 AM	3:00 PM	30						5		5	D	10.00	10	100.00	2
	Run Weeks	of: 10/20 1	1/03							•		•							

TOTAL GROSS \$600.00, NET \$600.00

KVRH-FM

	DAT	res	Alt	TIM	IES					D	STR	BUT	ION			RATE	то	TALS	PTY
No	START	END	wks	START	END	LEN	М	Т	W	Т	F	SA	SU	Per Wk	D/W	KATE	SPOTS	\$\$	55.01
1	10/15/18	11/02/18		6:00 AM	10:00 AM	30	2	2	2	2	2			10	D	10.00	20	200.00	2
	Run Weeks	of: 10/15 1	0/29	S-5										VI					
2	10/15/18	11/02/18		10:00 AM	3:00 PM	30	1	1	1	1	1			5	D	10.00	10	100.00	2
	Run Weeks	of: 10/15 1	0/29					05000											
3	10/15/18	11/02/18		3:00 PM	7:00 PM	30	2	2	2	2	2			10	D	10.00	20	200.00	2
	Run Weeks	of: 10/15 1	0/29				VC-57												
4	10/20/18	11/03/18		9:00 AM	3:00 PM	30						5		5	D	10.00	10	100.00	2
0.00	Run Weeks	of: 10/20 1	1/03				200-11-00			W====									

TOTAL GROSS \$600.00, NET \$600.00

KWUZ-FM

	DA	res	Alt	TIM	IES					D	ISTR	вит	ON	()===()-;====		RATE	то	TALS	DTV
No	START	END	wks	START	END	LEN	М	T	W	Т	F	SA	SU	Per Wk	D/W	RATE	SPOTS	\$\$	PTY
1	10/15/18	11/02/18		6:00 AM	10:00 AM	30	2	2	2	2	2			10	D	10.00	20	200.00	2
	Run Weeks	of: 10/15 1	0/29				ALCO CO.				301 L N 100 L	No-ye-sa							
2	10/15/18	11/02/18		10:00 AM	3:00 PM	30	1	1	1	1	1			5	D	10.00	10	100.00	2
	Run Weeks	of: 10/15 1	0/29											***********					
3	10/15/18	11/02/18		3:00 PM	7:00 PM	30	2	2	2	2	2			10	D	10.00	20	200.00	2
	Run Weeks	of: 10/15 1	0/29									700-15-1							
4	10/20/18	11/03/18		9:00 AM	3:00 PM	30				ii) E		5		5	D	10.00	10	100.00	2
	Run Weeks	of: 10/20 1	1/03																

TOTAL GROSS \$600.00, NET \$600.00

		Oct 18	Nov 18						
	CA	1,800.00	600.00						
	ST	1,200.00	1,200.00						
Print S	pot Prices					TOTAL	SPOTS		240
				****		GROSS	TOTAL \$		2,400.00
					(100) (100)	ADJUST	ED SPOTS		240
						ADJUST	ED TOTAL	\$	2,400.00
	***********					APPRO	VE DECLIN	NE	
					cars.	\circ	\circ	General Manager	
				******	24.2	\bigcirc	\circ	2140TBUCH, 09/25/18 @5:21PM	
		****			524 524	\circ	0	National Sales Manager	
						\circ	\bigcirc	Local Sales Manager	

Billing Projections: By Month

Sales Order

KBVC-FM, KVRH-FM, KWUZ-FM Buver: Stations: Contract Name: REELECT SPEEZE 4 CH CNTY SHER Tax Schedule: (None) 951001305 Agency Commission %: 0 Contract#: 11/06/18 End Date: Billing Cycle: Calendar Start Date: 10/07/18 Type: Cash Salesperson: Revenue Type: POLITICAL 2140hhou Comm %: 15 RE ELECT SPEEZE 4 SHERIFF Makegood Policy: Within Contract Dates Advertiser: P.O. BOX 387 Address: City: PONCHA State: CO Zip: 81242 **SPRINGS** Product Name: GENERAL Competitive Code: Political

KBVC-FM

Ţ	DAT	TES	Alt	TIM	IES					DI	STR	BUT	ON			RATE	то	TALS	PTY
No	START	END	wks	START	END	LEN	М	Т	W	т	F	SA	SU	Per Wk	D/W	KATE	SPOTS	\$\$	FILE
1	10/08/18	11/02/18		6:00 AM	7:00 PM	30	4	4	4	4	4			20	D	10.00	60	600.00	2
	Run Weeks	of: 10/08 1	0/15 1	10/29				# 14.14°											
2	11/05/18	11/05/18		6:00 AM	7:00 PM	30	4							4	D	10.00	4	40.00	2
3	11/06/18	11/06/18		6:00 AM	12:00 PM	30		4						4	D	10.00	4	40.00	2
4	10/07/18	11/04/18		10:00 AM	3:00 PM	30							3	3	D	10.00	15	150.00	2
5	10/13/18	11/03/18		9:00 AM	3:00 PM	30						3	grade.	3	D	10.00	12	120.00	2

TOTAL GROSS \$950.00, NET \$950.00

KVRH-FM

	DAT	TES	Alt	TIN	MES					DI	STR	IBUT	ION			RATE	то	TALS	PTY
No	START	END	wks	START	END	LEN	М	Т	W	Т	F	SA	SU	Per Wk	D/W	MIL	SPOTS	\$\$	26.5554 - 775 <u></u>
1	10/08/18	10/26/18		6:00 AM	7:00 PM	30	3	3	3	3	3			15	D	10.00	45	450.00	2
2	10/29/18	10/29/18		6:00 AM	7:00 PM	30	3							3	D	10.00	3	30.00	2
3	10/30/18	11/02/18		6:00 AM	7:00 PM	30		4	4	4	4			16	D	10.00	16	160.00	2
4	11/05/18	11/05/18		6:00 AM	7:00 PM	30	4							4	D	10.00	4	40.00	2
5	11/06/18	11/06/18		6:00 AM	12:00 PM	30		4						4	D	10.00	4	40.00	2

TOTAL GROSS \$720.00, NET \$720.00

KWUZ-FM

	DA	TES	Alt	TIM	IES					DI	STR	IBUTI	ON			RATE	то	TALS	PTY
No	START	END	wks	START	END	LEN	М	T	w	Т	F	SA	SU	Per Wk	D/W	KATE	SPOTS	\$\$	
1	10/08/18	11/02/18		6:00 AM	7:00 PM	30	4	4	4	4	4			20	D	10.00	60	600.00	2
2000	Run Weeks	of: 10/08 1	0/15	10/29															
2	11/05/18	11/05/18		6:00 AM	7:00 PM	30	4							4	D	10.00	4	40.00	2
3	11/06/18	11/06/18		6:00 AM	12:00 PM	30		4						4	D	10.00	4	40.00	2
4	10/07/18	11/04/18		10:00 AM	3:00 PM	30							3	3	D	10.00	15	150.00	2
5	10/13/18	11/03/18		9:00 AM	3:00 PM	30						3		3	D	10.00	12	120.00	2

TOTAL GROSS \$950.00, NET \$950.00

Billing Projections: 8	By Month					
	Oct 18	Nov 18				
CA	2,020.00	600.00				
ST	1,670.00	950.00				
Print Spot Prices			TOTAL	SPOTS	***************************************	262
			 GROSS	TOTAL \$		2,620.00
			 ADJUS'	TED SPOTS	3	262
******		one en en en est	 ADJUS	TED TOTAL	\$	2,620.00
			 APPRO	VE DECLI	NE	
			 \circ	\bigcirc	General Manager	
			 \bigcirc	\bigcirc	2140TBUCH, 09/25/18 @5:20PM	
			 \bigcirc	\bigcirc	National Sales Manager	
			\circ	\bigcirc	Local Sales Manager	